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2. Here is a right-angled triangle.

Diagram NOT
accurately drawn

* ]

S5c¢m

(a) Calculate the size of the angle marked x.
Give your answer correct to 1 decimal place.

N Adjacent
Hypotenuse

5
COSX = —

x=51.3178

Here is another right-angled triangle.

Diagram NOT
accurately drawn
yom

40°

12.5¢cm

(b) Calculate the value of y.
Give your answer correct to 1 decimal place.

N Opposite
Adjacent

tan

tan40° = Y
12.5

y = 12.5tan40°
y =10.488

o L —
3

(Total 6 marks)

~
Leave

blank




Leave

blank

B Diagram NOT
accurately drawn

36°
A D

The diagram shows a circle centre O.
A, B and C are points on the circumference.

DCO is a straight line.
DA is a tangent to the circle.

Angle ADO = 36°

(a) Work out the size of angle AOD.
Angle DAO=90" (The angle between a tangent and the radius
drawn to the point of contact is 90°)
Angle AOD is 180°-90°-36° =54° (Angles in a triangle add up

54 ©
0180°) s
2)
(b) (i) Work out the size of angle ABC.
54° - 2=27°
27 °

(ii) Give a reason for your answer.
Angle ABC is half of angle AOD (The angle subtended
at the centre of a circle is twice the angle subtended 3) Q3

at the circumference) (Total 5 marks)
otal > marks




0 a

OPT is a triangle.
M is the midpoint of OP.

OT=a
TP =b
(a) Express O_>M in terms of a and b.

OB = OT + TP

OP:=a+b
OM = OP
2
oT/lzl(a+b)
2

(b) Express TM in terms of a and b.
Give your answer in its simplest form.

TM=TO+ OM

1
-at —(a=»b
@z b)

-a+ 1a+ lb
2 2

Diagram NOT
accurately drawn

|

OM =.—(at.b).....
2 @

(Total 4 marks)

-
Leave
blank




4. The incomplete histogram and table give some information about the distances some

teachers travel to school.
f 3

4

Frequency

density

0 10 20 30 40

Distance( dk m)

50

60

(a) Use the information in the histogram to complete the frequency table.

Distance (d km) Frequency
0<d<5s 15
5<d< 10 20

10<d <20 25
20<d <40 16
40<d <60 10

(b) Use the information in the table to complete the histogram.

Frequency Density

3
4

25
0.8
0.5

2)

1)
(Total 3 marks)

Leave
blank




3. A concert ticket costs £45 plus a booking charge of 15%.

Work out the total cost of a concert ticket.

i
1100

% 6§= 6.75
4 4

45 +6.75=£51.75

(Total 3 marks)

.
Leave
blank

4. A shop sells CDs and DVDs.
In one week the number of CDs sold and the number of DVDs sold were in the ratio 3:5
The total number of CDs and DVDs sold in the week was 728

Work out the number of CDs sold.

3 : 5 means there are 3 + 5 shares

728+ 8= 91
91x 3= 273

e 273.CDS oo
(Total 2 marks)






